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13. The senior class is sponsoririé a dinner. The cost of catering the dinner is $9.95 per
person plus an $18 delivery charge.

a. Write a rational function that gives the average cost per person. 13: K ‘q?:H%
b. Graph the function and use it to estimate the number of people needed to lower
- the cost to $11 per person.

14. Rosita can wax her car in 2 hours or 120 minutes. When she works together with
Helga, they can wax the car in 45 minutes. How long would it take Helga, working
by herself, to wax the car? ‘

S L :

15 If y varies directly as x and y = 18 when x = 15, find y when x = 20.

Y:Z“
- 16. Suppose y varies jointly as x and z. Find y whenx =9 and z=-5, if y = -90 when
z=15and x =-6.
u=-45
| 17. Ify varies inversely as x and y = -14 when x = 12, find x when y = 21,
x=-% _
18. State whether the following equation represent cyf joint, or inverse variation.
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